?

=] -
=

6

2x = (x—y)

©x=4,y:2

@ x=3,y=1

@ x=4,y=-1

-2

®x=-1,y

=4

®x=-2,y

NG
©

6

xX+Yy

——




[ee) Ne)
— —
([
— —
— [N}
I+
> A
+
—~
[xp] [a\]
+ +
= =
S~— SN—
[a\] [xp]
——

-2

@ x=-4,y

® x=-5y=3

@ x=1,y=-2

@x:5,y:3

® x=4,y=-3

3x—y=12

Q+0O

2x+y=13

——

Lx=5

1H 5x = 25

O 3
= O

Ly=3

©°fl tHYsHH 15 -y =12

=

X =




—_ ™
| |
Tl
= =
I+
>~ A
TN
+
))
9_.2
= T
N =B
N—_——

@ x=4,y=2

O x=-3,y=5

3 x

@le,y:2

-4, y=-3

® x=5y=3

[}
I
y
= °c
| —
ol
S
e A
__JML
=
© Q »wii
T wm_wma
__OU—Hl
+« T T
I Q@O
- & + o
£ gs
X
N R Il
{®x




5x 43y =20 _

A4 { 1 O] o7} (a, b) B ™, ax b o] F2?
sx+—-y=3
275

@ 0 @ 10 @ -10 @ 20 (EE)—lOO

5x+3y=20---OQ
5x+2y=30---©

O-OL3Hy=b=-10, x=a= 10022
ab = xy = —100 ©]t}.




02x+4y =03

AW {3 2 27) 9jsto] ASE B4 g7
X+ y=-2
4 3
17 AL
2x+4y =3 2x +4y =3
® ' @ Y
9x + 8y = -2 12x + 6y = —24
2x 4+ 40y =3 2x+4y =3
Ol ®
Ix 4+ 8y =-24 9x + 8y = -24
2x+40y =3
® y
9x + 8y =-2

B \

02x+4y=03---O
3 2
=z Zy=-9...
4x+3y @)
@ Aol x10, @ 4l x12 & 5tH 22t 2x+40y = 3, 9x+8y =

—24 7} €.




1
2

(x—y) =x-8, %(Zy—?)x)—y = 3x+5 o ti5t (a, b)

_30
201

15
239

_ a
PRyl A, ¢ o g

®

15
239

30
291

2

@l 6
©e 2

X = —

S i o

?5

<
I

—(x+2)—|—1(x—y) =x-

2

—(2y-3x)—y=3x+5

SHH —9x = 10
4ﬁ o] =i ‘_1
217 7 b

8

=oH x + 3y = 52
=

239

@)

15

1.




O x=3 y=2 @ x=3y=1 (@)x:l,y:Q

@ x=1y=3 ® x=2y=3

lox,loyasd

x y

3X-4v=1---O

4X-2Y=3 ---©O

D -0Ox23tH -5X = -5
1

LX=1Y=3

1 1
Z=10E2 x=1, -
x y




ohe % a7t 2 7 o149l AR AL
dx+2y=11 X4+y=
@® { 1 1 ) { Y )
—EX—gy— 3x+3y =
0.2x+ 0.3y =04 x=y+3
@{lwrl . @{2 2 =5
6" 47 3 =
3x-y=-1
® y
Ix-3y=3
s7k 2 ) olAfolet e AWA A 7t Boa] Pt
Az} 2o,
5 A9 W A40] A4et 4ol A7 2 ), 7t 74
sl @t
A
ox+ 2y =11 Q)
®{ 11, -
2" T T
QI -10x© 2 I HEER |7t gt
x+ = . @
@ y
3x+3y=4 @)
3xQ I O A5gu 2uz Frt glct
02x+03y=04 - @
@31 1 1 -
6" T4 3
10x @=12x © O|BZ 87} B3] gk,

@ Si7} it
® 7} fle.




3%3ﬂ
Il I
>
RSP IO
+ 1 4+ +
S & 2ie g
—— ——
&
|
S
|
o
mne e 1T
—_
s 5 20
me 2 R T
nTx + =
= <+ Tt . =
ol 2 & o &
{

il 2x +4y = -4 o|1

S

g2

o
=




10. e 127 FolA 5
W5 W, 7t s

o

X Yy
R a—
9 4+3

© 0.4x+02y = 0.1
© 0.2x+ 0.1y = -0.7

@ 3x+4y=-12

va0 066 Gae ©oe 66

@Al x12 & 3HH 3x + 4y = 12 ] &
HE2 97 @2 A HLE = 93
Hla=g

PR

2
®
1>

2L &
1)
E




11. (a+b):(b+c):(c+a)=2:5:7°0a+b+c =42 1,
c—a-b 9 27

D 10 @ 12 ® 14 @18 ® 20

B ~
(@a+b): (b+c):(c+ta)=2:5:7°B2 a+b =2k,
b+ c =5k, c+a=Tk (k+0)2t o}Af,

ANl AS 25 H5HH 2(a+ b +c¢) = 14k, a+ b+ c = Tk°| B2
a=2k, b=0, ¢c = 5k,

a+b+c=420182 Tk =42, k =6,

W2t a =12, b =0, c = 30

“c—a—-b=18




- -by—-11 _
12, Qe T2 I8 SIS o gt (7, —9) L,

ab ] Ft& FoHH?

® 1 @ 2 ® 3 @ 4 5)5

S5 ‘
10(x +y+a) =15(x—a) = 6(x — by — 11)

10(7 -9 +a) = 15(7 —a) = 6(7 + 9b — 11)

~20 4 10a = 105 — 154

25a = 125

T a=5

30 = —24 + 54b

54 = 54b

L b=1

wet A ab = 5 o]t}







14.

2x+ 3y =2 _ _ _
RS R R RS e R EL e
ax — by =

y=ax+be (0, p), (g 0) = ATHIL A, p+q o g2?

3 ) 7 9
©-5 @-5 o1 ®. O

2x + 3 2 2 3 2
g M === =2

ax—by=14 b 4

2 2

a 4

a=4

3 2

— =—,12=-2b

-b 4

“b=-6

SLy=4x-6

x=0¥ W, y=-6°22 p=—6

3 3
YZOC?—;IQ,xzﬁo]—D—qug

g Y




+2y=0
15. agwAgalt " 7bx =0, y = 00|99 s§= 7}d
3x+y=kx
A2 ko] FHe 9
9 7 5 3 1
3 2; @ D 3 ® 3

x =0, y =0 ©]9]9] 58 7KIths AL st £48 wrhs
%3} g},

{x+2y=0 A
B-kx+y=0

1
—— = k=2
3-k 1 2




